— AR AU KRN ARRRNE (O~
— HERBETHERMRRNE (O~ DD



67+ 2

200
\\ LS L P 7 7 7 2 777 L7 7777 7 7277l 22 27 Ll AL 2L
. o0
v S bl 0
% —_— % 200
% ] %@fJKW\ IIW
= |
2
5 Y W gL iz
2 BAER 1
% — . 178
JR— T X . _ e “ ~
A [ %
7 —&) L pageg 2000 |LJ/ Wgo
4 C k ' _ ’ 9
: ~/ 7

2000

il B E IR

NN\
/
il
5
3
3

L

\waauovoooooooowoxxmAA&AossovvvoovvvvvvvvvoooAAAAAA\VvQQoooovoovaQMMw

EhRENAEHAFEARR/DRTREE

NBARXRIFAEMTRPYME

5 H

REef4EE (TR

64 LT

75~ | 200~
160 | 400

500~
800

£ &

% 2

R+ )

Na®ER

HHERE |

1.6

1.7

18

2.0

Ha#E
LE £ 241

1.5

1.6 1.7

2.0

¥ A%
LR 1231

1.0

1.0 1.2

1.5

YL4 1 B

1.7

2.0 2.3

2.6

REH%
LR 1.8 4

1.6

1.8 2.0

2.4

WE&®

h

3.5

4~
3.5

4.3

4.3~

5.0

El RPEANEEHROEAFEE ) K
FEFANRGBRARYF AT, 4
Nad X5 RRTR, LEENE
AL, ENARARTER, &
HETEL k.

LEXRUTERERXNATEXAESR
AT .

BEBERENBEBLBNAZRWE (—)




(]

L

L

GF & 1250 TR R T hRBHAIMERHE

67+ 3
A S R BHLEN R . RIRE & PSR
. AR | maspR+ (&) (2 4
1, . | L | W | H
(7 30 | 2260 | 830 | 1280 | 1340
i ﬂ,%e 40 | 2260 | 830 | 1280 | 1410
50 | 2262 | 830 | 1280 | 1480 | 4%
F 64 | 2735 | 871 | 1383 | 2050 | LS
. v 75 | 2735 | 871 | 1383 | 2120
120 | 2900 | 1145 | 1570 | 4000 |
- L ER R
160 | 3325 | 1000 | 1615 | 4300
B 0w
T %57
00 0
2 5366 | 1160 | 1048 | 4070 | * 07
( 300 | 5410 | 1170 | 2327 | 12500 | EXRA
, A
T .
500 | 5250 | 1870 | 2750 | 18000 | %R
g , Ve
T 830 | 5700 | 1950 | 2650 | 16000 [ .
B00 | 5700 | 1950 | 2650 | 1000 | T
- 1000 | 5700 | 1950 | 2650 | 16000
A &%
1250 | 8400 | 2000 | 3800 | 38000
00
E: RAMBBEFRRAHLTRE,
- 2
BEERNARHR BHNERENE (O TX =




67 4

1200 14 1200 LB
; /  ERa%
200 B / / \
AN —\ et =
L _ Z_f 200 U I ™~
| ey g e —f
I & RHE Tl
mmma AMWu
B — i
MKW ._.
I | 4 >
I
AN
NEA
Ml )1 g G
/ # R kil .
BXE = = - , z m
200 200 X 100 \ 500 500
: MM A
AR AR ROBEZ—(—)

H: RENAABSHXBARART, BRETEAH4, HEHK

B KB 2. 28
ER R
RHAKE

B o S8 45 K 100 BEXK,
0 200~ 1500 Xk, 7]
BRFHEARNM

FTRAACARKBERT, TRRITAAEHAATLHRR.

BERRNRBKBABNARERE (=)




0

iR

WS

=)
£ 30N m

e o e —
-

il Bl i 3 4% X100 HEK,
— LS 200~1500 #X, AL

— T ,,m T i o Ay W (% 2
S m NEHE, K TF 2/
g T s BN )
I-1
SEHREYARETAEZ— ()
BEfBENAKDABNARENE D) me




e |
=0
. , \ = T~mes

A\

Sl

ik /
9

. Wi

kB ERBEREIEZ—(—)

—r

BE£EENAKBRBNEARRWE (B)

X —




67«

HH A
e LR e e i
ik EREROEZ= (=)
BEEENAEHABNARENE OV x &




Wl
T e
/N — / \
[ 1 was ks
4//'. 7 -1z ; -
% C | J
P L M\ a EEN
%ﬁmm\\\ \\\
=
e ey . ™\ M
// ®amiE
\\Y\\
I 290 I
T 200 L’

———1— 4
—_——t

KbRBNEARERGIBEZ=(—)

BEBENAKBIRBNARENE ()

X —




PE T > 500 ZE Xk

l ‘ BBk

S

& i

Tipdi

[

RN AR EROIEZ= (=)

BEERNABKBLABNEARENE (/L

X ==




67 10

/R /4 —

\ 300 F M4 .
BENEHEGX) 500 FH¥EKE , _ \.\ Q
AN v
\ ML In - .
Al | w
: WK F721

G

300 i».mw&@ _

\ gl
. IREEEIER

- aam\ W\

| % u L " |rr rd @

, _ Ei@? - |
BHEHE ﬁ%@.ammrl_ HaE

A
Y= \ma&mm
% | ‘ .
/| F‘.__ L | L] ﬁﬁﬁ_aﬁ
; - - /
s R AR ERAIEZm(—)
SERENAEDLNARENE ) 2




67 « 11

GE VS|

MEREERL .. - A
% e : HER ? £= s 8

HSE

HSEREL .

ghRElERERHEZE(=)

B&BRNBRERBNARENE (1) TX %




67+ 12

VA A
/ \
LM ;
e | Mg
| | )
Al
— _
T |
| B | Ew ﬂﬂ
_L_\ L g7
}
. {
g
- Sl
U 5 /
3 |
L
N

1

RINBE MR ENAH B REIE(—)

BEERNA%BLEBNARENRE (+—)

11
TX 67




A | REHLHR) O

I-1
RIhEFHREIAHREROIE (=)

67+ 13

BEERNSKBRBNARRHE (+2)

12
TX 67




goggEs | |
$32 K REHRE
$25 AWK E
EOEEES Smbl

O

Pl AHAEHRHRETER

. RHMBREE L EHEREBH N S5, HABEN A AF LU L RBER.

B&BRENAEELBNAREHE (T=)

13
x 67




100

\\\\\ 7% \\\\

: W\mmwﬁm Z i 2 _

B 1Zkasi ARSRSSISSSY Ja 183 :
] 1% A KB - T b +.“

N« “w_h; Z /.%MW//// g 3

& A

T 7 A/ SIS B SR (—)

)

—— RS

(M

—— HAE

HITHT

)
@ HES SR AN TR R

67+ 15

R b CE R R R )

B OENA%EHLBNARREE (+00)

14
TX 7




67+ 16

4
=
m 5004 k 500 BLE
I
By B W3R
500 LA k| 500 A E
- b = ’
\ 4
g am
W g
4TINS
\\ I / I
~L LA
Bl 1P 4
\ \ :
o
4 AR y /
M 100 200 \ \wm&nm \ \
8
g 7 200 X 200 X 100 & M;
2 Y \\\\\\\m\ / , BT KT MR
..... ORI B ..... " ....“ ; ........". . ..... T
= L sy SV e
By e R 300 K5
R +
L2 2R R s
il I-1 (&) Mtz

B&DENALELBNARRNE (+) X




67+ 17

N 7 .
7 | B —
\_ _ AV \._
Al | A LA S S AL AT =
7 A B
\_ / g |88
\\_ A < + +
“ A = 2
“__ CETT S R \\ LT L 3 =
VA
1—
E
($12X60) %6
'\ 150 R B
- T
| HESE A XB
_ TasrEs
b HES B SIREERE (D)
50 50 P LEGE ¢ S
< $A(SB)
HES B HRSHEERRCOK) 4 + 100
A:$100, B KEER 8% ($B+100)
B:$150, B KEER 20K -1
SEEENREDLBNAREEE (+V) tx 18

3._




